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_ PES & Periodic Trends
;" \ 1) Answer the following questions related fo the elements boron and beryllium make
R sure to reference both elements in your answers. Below are the photoelectron spectra
for beryllium and boron. :
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A) The first ionization of Boron is lower than the first ionization energy of beryllium.
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B) Both beryllium and boron have electrons in only the first and second energy levels
but boron has three PES peaks while beryllium has only two PES peaks.
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C) The right most peak for boron is much higher in energy than the right most peak of% ﬂ’"’m:
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2) Answer the following questions related to electron configuration. ; O
A) Write the electron configuration for Zn2+. / Zl? @Wl @ii ?‘n@m?{!&w

Is? 257 206 2:22p8 2] ° © Mekols Jose Vi Hs

Clechers Gretl.

B) Which species Zn or Zn2* will have a lower ionization energy? Justify your answer. _
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C) Potassium has a lower first ignization energy than sodium. Explain.
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D) An unknown species is analyzed and found to have the following photoelectron O
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spectrum.
Based on the PES spectrum what charge is this element likely to form. Justify your

answer.
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